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150 190pam
A(cc/g)

0.151ogR - 0.11 <A<0.34

0.15l0g180 - 0.11 0.228

1.55 27
/
A=0.239 0.319
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180pam

A(cc/q)
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1
0.03 0.2pam
0.1 0.6
0.3 1.2pm
0.002 0.03
0.2pm 6.0
10.0pam 90 1
0.8
...... 90 0.1pam 0.5
1 0.8 0.5pm
150ppm
...... 150 3.9
130 4.0
6 8pam
150 1
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LX LY
SRa=1/S, § § f(X,Y) dxdy
o o

LX LY=S,

0.12pum 1.6><10*

1.6>10° /mm? .
SRa 0.002 0.02pam
...... xXXx

0.25mm =<

SRa

Su
m

3
...... Ra JIS B0601
<X QO
0.08mm ox
lam

L
Ra=1/L _f f(X) dx
[e]

1.25mm 4
0.05pam 40
9.8pum
0.1
jam 55,000 / mm?
Ra 0.009um
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b/a
b/a
mp
25 0.90 1.1
35 0.89 1.2
50 0.88 1.3
0.9




1
100 CTAB
70 123m%*/g DBP 110
155ml/100g 30 60
N,SA DBP
No 1 2 3 No 1 2 3
CTAB(m¥/g) 72 96 105 | | | N,SA (m¥/g) 99 125 138
DBP(mI/100g) 143 146 138 | | | DBP(mI/100g) 143 149 121
CTAB CTAB N,SA ASTM D3037-88
ASTM DBP JIS K6221
D3765-80
DBP JIS K6221
100 45
CTAB
CTAB
CTAB
CTAB
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2
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h(nm)
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...... 1 h 100 1,000 20,000 7/ mm?
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1 2 1 2
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100 h 10 14 120 21 Ra 5nm
Ra(nm) 8 6 29 12
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